public class Datenbanktest {

    public void testeAnfrage(String anfrage) {
        DatabaseConnector con = new DatabaseConnector("localhost",
[bookmark: _GoBack]                                     3306,"millionaer","root","root");
        con.executeStatement(anfrage);
        QueryResult res = con.getCurrentQueryResult();
        if (res != null) {
            for (int i = 0; i < res.getColumnCount(); i++) {
                System.out.print(res.getColumnNames()[i]+"\t");
            }
            System.out.println();
            for (int j = 0; j < res.getRowCount(); j++) {
                for (int i = 0; i < res.getColumnCount(); i++) {
                    System.out.print(res.getData()[j][i]+"\t");
                }
                System.out.println();
            }
        } else {
            System.out.println(con.getErrorMessage());
        }
    }
    
}
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